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Question Number : 1 Question Id : 7559053195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The combination of the colurnn letter and row nurmber for a cell in an Excel worksheet is called a ______.
Options:

1. # cell cross

2. # el identification nurnber

3. 9 cell reference

4. # cell identify

Question Number : 1 Question Id : 7559053195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Microsoft Excel Fei=er § @ & o0 Toa9 21g ofY Ui SReam & S &7 ______ FET ATAT 2]

Options:

1. % Fy g

2. % gy UgEe wEar
3. ¥ gy Had

4. % iy UgE

Question Number : 2 Question Id : 7559053196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ir1 M35 Excel, each sheet in a workbool: is displayed as:

Options:

1. % floating point arrow
2. # dowrn pointing arrow
2. % marker

4. ¥ tab

Question Number : 2 Question Id : 7559053196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Microsoft Excel §, ®IEdeT & Foddh U &1

Options:

1. % g iy di
2 % ZEAHIw AR
3 % O

4 & g

Question Number : 3 Question Id : 7559053197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which of the following functions in MS Excel 2016 calculates the average or mean value of a group of
numbers?

Options:
1. % AVERAGE function
2 % aVG function



3. % SUM function
4. % COUNT function

Question Number : 3 Question Id : 7559053197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS EXCEL H Taiead § & @1 &7 Whera Sreanell 3 g 1 3 a7 3Tes gl & 10T T 27
Options:

1. ¥ AVERAGE W

= % AVG s

3. % SUM Gersr

4 ® COUNT B

Question Number : 4 Question Id : 7559053198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
By default, M5 Outlook 2016 store all received e-mails in the folder.

Options:
1. % Inbox

2. % Sent Items
2% Outhox
4. % Drafts

Question Number : 4 Question Id : 7559053198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ehles ¥ &, M5 Outlook 2016 T mH 5-7d FT Tieet § GG T HeaT ]

Options:

I -]

o ® HeT amgerd
3. ® Iy
4 % ZmT

Question Number : 5 Question Id : 7559053199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

SCenario: You warnt to Cconnect your cormputer to another cormnputer.
Question: Referring to the above scenario, identify the name of the card which you will require.

Options:

1. % Sound Card

2 ® yGa Card

2. ¥ Networlk Interface Card

4. % Expansion Card

Question Number : 5 Question Id : 7559053199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
FEAF. AT A0 FHLT Tl G B G Felde FAT AR B
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Options:




1. % AP @E

o % IR e

= Jood T TR
4, % zaedeaE w8

Question Number : 6 Question Id : 7559053200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
15 the process of dividing the disk into tracks and sectors.

Options:

1. ¥ Formatting
= % Allotting
= # Dividing
4. % Tracking

Question Number : 6 Question Id : 7559053200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Teew @t ¢ o ga! o o @ dt midrem et ______ T

Options:

1. & mrHteT

2. % qEReT e
3 % fEaEtEm

4. % I

Question Number : 7 Question Id : 7559053201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Data information) is stored in COmputers as

Options:
1. ¥ files

2. % directories

2. * floppies

4. % matter

Question Number : 7 Question Id : 7559053201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

2T (FE) B e & = # qOR T T AT
Options:

1. ¥ WEa

2 ® el

3. % ganf

4. % fm

Question Number : 8 Question Id : 7559053202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In M5-Word 2013, the button that is related to working with a docurnent, such as Clipboard, Font and
Paragraph, appears in the tak of ribbon.

Options:



1. # Review

2. ® Insert

3. % Page layout
4. % Home

Question Number : 8 Question Id : 7559053202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

M5 Word 2013 H aF 9o SEdTee F 91 0 - G0 519 5, 9 1 fFemeiE, wiee ot e, o fea i
T 3 &

Options:

1. % Review

2. % Insert
2. % Page layout
4 % Home

Question Number : 9 Question Id : 7559053203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Forms that are used o organise business data into rows and colurnns are called:

Options:

1. * transaction sheets
2. % registers

2. % business forms

4. ¥ spreadsheets

Question Number : 9 Question Id : 7559053203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ST 27 1 ikt o) Eaal # soa i @ @ Toiy U= [y ST arel T8 @1 977 FgT AT 87
Options:

1. % giee g

2 % e

3. % et wTe

4  wizda

Question Number : 10 Question Id : 7559053204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Inn Windows device, enrolrmernt manager can enroll more than ______ nurnber of devices,
Options:

1. % five

2. % three

3. % four

4 % gjy

Question Number : 10 Question Id : 7559053204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TerE T e #, ATHiw Heremr ______ o fTEr [ZaTEHT @ AR F FT o)

Options:



1. ¢ o=
2 % =
3 % Or
4. % §g

Question Number : 11 Question Id : 7559053205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What 15 the key combirnation to rmove to the beginning of a text bowx in MS PowerPoint?

Options:

1. ¥ CTEL + HOME
=z % TAE + HOME
3. % ALT + HOME
4. % SHIFT + HOME

Question Number : 11 Question Id : 7559053205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
M5 FowerPoint o T9ee alod ol JoaTd o 1 & Toy gt Jai=m &7 27

Options:

1. % CTEL + HOME
2. ® TAE + HOME
3. % ALT + HOME

4. % SHIFT + HOME

Question Number : 12 Question Id : 7559053206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
During a slide show, what is the key combination to view the all slides dialog box i1 M5 PowerPoint?

Options:

1. ® CTEL + A

= % CTEL + 3
3% ALT +A+5
4 % CTRL+ A +E

Question Number : 12 Question Id : 7559053206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

U FA5E AT & S0, M3 PowerPoint § @t €055 SR 91ed @1 4@ o o] G G 74T 57
Options:

1. % CTEL + A

2 ¥ CTEL + 5

3% ALT+A+S

4 % CTREL+A+E

Question Number : 13 Question Id : 7559053207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What i3 the key combination to align selected objects to the right edge of the last selectad object in M5
PomrerPoint?

Options:



1. % Alt+F1
2 % Alt 4+ 3
3% Alt+ 4
4 % Alt+ 1

Question Number : 13 Question Id : 7559053207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS PowerPoint 8 e=id sileviored ®1 TdH oi-a dlewiere o U o1 o H7e T4 RET @ee o To] gt | 7T 27

Options:

1. ® Alt +F1
= W Alt+ 3
3% Alt+ 4
4. % Alt+ 1

Question Number : 14 Question Id : 7559053208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In Excel, for faster printing of graph /chart:

Options:

1. ¥ change the print quality of the chart to draft quality
2. ® change the print quality of the chart to color quality
3. % resize your graph [chart

4. % edit your graph/chart

Question Number : 14 Question Id : 7559053208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
EXCEL H T =TE & Ser G o ol arm @t T SiTaaaepaT 27

Options:

1. & o7 T gauT e I ST TTET H Oidi d @
2 % ord T gEuT Ve I T & 0T § aiEE d we
3 ® TIE(ETE & AT W aa

4 R UIEEE B GUTGT P

Question Number : 15 Question Id : 7559053209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ editor is used to write macros in M5 Excel.

Options:

1. ¥ Visual Basic
2. % Eclipse

3. % Turbo C

4. % MNet Beans

Question Number : 15 Question Id : 7559053209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
_____ &Y &1 I M5 Excel # R o o oy frm <t

Options:



1. ¥ Visual Basic
2. % Eclipse

3. % Turbo C

4. % MNet Beans

Question Number : 16 Question Id : 7559053210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

To record or view racros in the MS Excel, click on ______ tab from task bar.
Options:

1. * Formula

= ¥ View

3. % Insert

4 % Data

Question Number : 16 Question Id : 7559053210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
M5 Excel o 8wl &t Wi o o7 2= & oig, eew aw & T U T @

Options:
1. % mrdar
2. ¥
3 ¥ o
4 % ZIT

Question Number : 17 Question Id : 7559053211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The ______ in Excel is used when there is need of repeating tasks which can record it and automate those tasks.

Options:

1. * Formula
= % Program
3. ¥ Macro
4. % Module

Question Number : 17 Question Id : 7559053211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Excel®______ T JUANT T [T AT & el SIEET oTel WAL Sl STTSaEmaT 5ia 1 5 =1 56 e o 9 o 1% I T &1

TaTioid & d@d gl

Options:

1. % e
2. % gmm
3. o Bmr
4. % @i

Question Number : 18 Question Id : 7559053212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
BE Excel 2007, 2010 recognises macro-enabled workbooks frorm the file extension:

Options:



1. % ylsx
2 ¥ xlsm
3 % s

4 % ylus

Question Number : 18 Question Id : 7559053212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Esxecel 2007, 2010 T Biea Uaada & Apl-TaT deg® ol Tgd= #<dT 57

Options:
1. % sy
2. ¥ xlsm
3 ® xls
4 ® xlus

Question Number : 19 Question Id : 7559053213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
CERT stands for:

Options:

1. % Computer Emergency Response Team
2. % Code Expert Response Team

% % Computer Expert Response Tearm

4. % Computer Expert Rapid Team

Question Number : 19 Question Id : 7559053213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CERT 7T quf &1 7277 27

Options:

1. ¢ Computer Emergency Response Tearn (F=ee Sa=ar (e0id 1)
2 % Code Expert Responise Tearn (18 TFaUgH (E0id & )

3. % Computer Expert Response Tearn (ST TFaugd i ¢

4 % Cornputer Expert Rapid Tearn (F<Et TFa0Td (0S¢ )

Question Number : 20 Question Id : 7559053214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
MMany webhsites use a to define their security and identity.

Options:
1. % code

2. ¥ certificate
= % program
4. % protocol

Question Number : 20 Question Id : 7559053214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T dAAIE ATTAT GO T Ui 1 T e o fofd ______ T IO FEA T )

Options:



1. ¥ 7=z
2. ¥ THOE
= ¥ g
4, % JIEEHA

Question Number : 21 Question Id : 7559053215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Eesolution 15 measured in

Options:
1. ¥ pixels

2. % number of colours
= * numbers of icons

4 % fonts

Question Number : 21 Question Id : 7559053215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TetTea ot o =0 o [T =T 57

Options:

1. & foeas

e T L
3. % g @ AT
4. ® gl

Question Number : 22 Question Id : 7559053216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The nurmber of bits, which means more realistic A ges.

Options:

1. % fixed

= % smaller
3. % medium

4. ¥ larger

Question Number : 22 Question Id : 7559053216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Op\tions:

1. % '@
2 % grar

3% qeH
4. & FET

Question Number : 23 Question Id : 7559053217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
‘Barcons’ is related to

Options:



1. * pictures
2. % gudio/sound
2 * files

4 % folders

Question Number : 23 Question Id : 7559053217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
“Earcons e gefeT 27

Options:

1. % &=

2. ¥ Tzt eaty
3. % mIEA

4. ® wmivet

Question Number : 24 Question Id : 7559053218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhich of the following is MOT a type of Cryptographic Algorithm?

Options:

1. % Secrete Key Algorithm
2. % Public Key Algorithm
2. % Hash Function

4. % Popular Key Algorithm

Question Number : 24 Question Id : 7559053218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

FI T Tither Ue T eTH &1 W 5] 57
Options:

1. % TERhiT & Teriem

2. % glecra @ TEITHCEH

% % 2oy thepard

4 UIge T Teriiery

Question Number : 25 Question Id : 7559053219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Yahoo messenger data filehas ______ exterSicn.
Options:

1.9 vps

2. % wahoo

3. % ysp

4 ® wag

Question Number : 25 Question Id : 7559053219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Yahoo messenger 227 IS §7 TFaea 74T 57

Options:



1.9 vps
2. % wahoo
3. % ysp
4 ® wag

Question Number : 26 Question Id : 7559053220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Anirmation | Mowvie filehas ______ e tenSIon.
Options:

1. ¥ mov

= ® amf

3. % mf

4 % am

Question Number : 26 Question Id : 7559053220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Ui | Wt TS T U T g
Options:

1. ¥ mov

2. % amf

3. % mf

4 % am

Question Number : 27 Question Id : 7559053221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is a real time Operating Systern.

Options:

1. % M5 DOS

= ¥ Lynx03

3. % Process control

4 % Time

Question Number : 27 Question Id : 7559053221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ e I TT5H ST e oeer g1

Options:

1. % MSDOS
2. ¥ LynxOs
3. ¥ gEE el
4 % g

Question Number : 28 Question Id : 7559053222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The main focus of accepting testing is:

Options:



1. % finding faults in a system
2. % testing the systamn with other systermn
2. ¥ testing for a business perspective

4. % test the design of systern

Question Number : 28 Question Id : 7559053222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T T T JE I 51T &

Options:

1. % e o gy e

2 % TETH o A T O T U ST
3. ¥ U ST T o o T et ST
4. ® Ty o (Zee w7 T e

Question Number : 29 Question Id : 7559053223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Faghu has typed the word "wedrnesday”. Word autormatically change it to Wednesday. This can be achiewed by

Options:

1. % auto correct

2. % guto capitalization
3. % auto check

4. % gpell checlk

Question Number : 29 Question Id : 7559053223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
%gﬁ “wednesday" sTeg 1T ToFT 8, Word TeaTieg &0 8 56 Wednesday Haed a1 75 ______ T ST T =T TaaT

Options:

1. ¥ et aee

o ® afiet ST
z ® afleraw

4 % TFdw

Question Number : 30 Question Id : 7559053224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ option is used to set the language used to check the spelling and grammar of the selected test.

Options:

1. % Spelling and Grarrmnar
Z % Set Language

3. ® Thesaurus

4. % Translate

Question Number : 30 Question Id : 7559053224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



______ el ST JU=T ST 018 & AT &1 ST (ST U UTH) o S s o T U o ST AT AT O s
o o e e

Options:

1. Ta T & s (FUiET e ITE)
o, % oy HT w

3. ® e

4. % STETe (FTEC)

Question Number : 31 Question Id : 7559053225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Arrange the following steps to make whole text into small letters.
a1 On the Home tab, in the Font group, click Change Case (A3).
b Select the text for which you want to change the case.

<) Click orl the option

d) Choose Lowercase option

Options:

1. b adc
2 % bacd
Z % bda,c
4 % hocod a

Question Number : 31 Question Id : 7559053225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
U ST T BIC AR | ager o foiy oy Tt @ e e @)
A) B e UF, Whiee 9Hg H, & agul (Aa) W T @4

b) Tg ¥ o T 18T ST S ageT agd 8l
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Options:

1. b adc
2% b oa o d
= % bdac
4 % hocod A

Question Number : 32 Question Id : 7559053226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
which of the following is NOT a browser?

Options:

1. % Cpera
2. % Edge
2. % Mozilla
4. ¥ Vival

Question Number : 32 Question Id : 7559053226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TR # & B U@ w7
Options:

1. % Opera



= % Edge
3. % Mozilla
4. ¥ Vival

Question Number : 33 Question Id : 7559053227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
& link thyperlink) is mostly:

Options:

1. # bold

2. % underlined
3. % italic

4. % represented in A regional language

Question Number : 33 Question Id : 7559053227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Toler (ZTEUR Inieh) =ATEIaY 790 BIHE H 510 &7
Options:

1. % gies

2 W AETEET
3. % Haw
4 % e amr | vetdT

Question Number : 34 Question Id : 7559053228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The second step in the process of mail mergeis ______
Options:

1. % select starting docurnent

2. % gelect recipients

3. % write letter

4. ® preview letter

Question Number : 34 Question Id : 7559053228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
el T T iR § gERT e’ ______ H

Options:

1. ¢ R gEate g
2. ® qEEmarHl @ T wt
3 % g7 iod

4 % U T qFla e W

Question Number : 35 Question Id : 7559053229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which of the following is offered by a television provider, and were developed to provide reliable TV service to
corrrnnities?y

Options:
1. % Dial up connection



2. % Cable modem
3. % DsL
4 % satellite

Question Number : 35 Question Id : 7559053229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TRTETET O & 7 UF ol e WaraT gRT 4 o e g, oK agerat @f e St &ar ugm @ & oy e e mr
77

Options:

1. % ZTIeT - 31T Felearq
2. ¥ e Jlzq

2 ¥ DiL

4, % gymg

Question Number : 36 Question Id : 7559053230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
SDSL stands for:

Options:

1. ¥ Syrmmetric Digital Subscriber Line
2. % Symbolic Dynamic Subscriber Line
= % Systemnatic Digital Service Line

4. % Synchronous Data Service Line

Question Number : 36 Question Id : 7559053230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
SDSL T 0T &1 T &7

Options:

1.IO ¥ Symimetric Digital Subscriber Line (RAR® EFea Tea@mear ae)

2. % Symbolic Dynamic Subscriber Line (&aiiee SETHE Tea@Eat Als-)
3. % Systematic Digital Service Line (RedAies EFea aidd e

4, % Synchronous Data Service Line (@ 227 Gi0q AE)

Question Number : 37 Question Id : 7559053231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is the latest internet connectivity type operates over an optical network using light?

Options:

1. ¥ Fiber optic service
2 % ADSL

2. ® satellite

4 # Zable broadband

Question Number : 37 Question Id : 7559053231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

T TA et Feiderde ! (Aaraman Tl § & =g 7 & S WerTar @ AT F7 HTteda Hoddr OF FH FaT 57
Options:

1. ¢ gy At ® |ar




o ® ADSL

z % gy
4. % HHgm di=de

Question Number : 38 Question Id : 7559053232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhich of the following is NOT a category of internet services?

Options:

1. ® Information retrieval services
2. % Web services

3. ¥ Data entry services

4. % Communication Services

Question Number : 38 Question Id : 7559053232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TRTeRET O & W sec-e damall @ e st 98 27
Options:

1. % =T qAuie ey

o ® g dan

3. ¢ ZaT i Ham

4. ¥ FEr Ham

Question Number : 39 Question Id : 7559053233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
& URL is also termed as a specific type of:

Options:

1. # Universal Resource Identifier
2. % Uniform Range Identifier

3. ¥ Uniform Resource Identifier

4 % Uniform Remote [dentifier

Question Number : 39 Question Id : 7559053233 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
URL & Tafie mam & = H 4T ST AT 8

Options:

1. % [rhiiiE ST ugeEd |
2. % {AE W TEaEEat

3. ¢ gUH GETEH UgaTEd |

4. % GHM GOET UgEEa |

Question Number : 40 Question Id : 7559053234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The URL without wewer, exarmple http [ fexample corm/, 15 called as

Options:
1. % naked dormain



= % simple dorm@in
2. % complex Aormain

4 * fake dormain

Question Number : 40 Question Id : 7559053234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T&HAT wrwrwr 3 URL S http. | jexample.com/ &1 &7 ®gT AG7 57

Options:

1. qgEma
o % WA EHT
3. % R Eme
4. % TJEAr SHT

Question Number : 41 Question Id : 7559053235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which among the following is a subscript?

Options:
.« Ordinal indicators 15t pnd

, x 5637

5 v Hes

4 % 2%

Question Number : 41 Question Id : 7559053235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
= 8 319 97 qatEws 27

Options:

|« FEART H@haw 15, ond

5w 5637

5 v He3

4 8 2

Question Number : 42 Question Id : 7559053236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which shortcut is used to indent the paragraph?
Options:

1. % Ctrl + Shift + ALT + M



oo Cirl + M
T % Crl+ M
4 ® ALT +CTREL + M

Question Number : 42 Question Id : 7559053236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TTE H 522 2 & TAT o @ T 57

Options:

1. % Ctrl + Shift + ALT + M
2 ¥ Ctrl + M

3% Cirl + N

4 ® AlT +CTREL + M

Question Number : 43 Question Id : 7559053237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
BCD means:

Options:

1. # Binary Coded Digit

2 % Binary Coded Decirmal
3. % Eit Coded Decimal

4. ¥ Eit Coded Digit

Question Number : 43 Question Id : 7559053237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ECD &1 Hdod &7 &7

Options:

1. % gEae FIEE & (Binary Coded Digit)

2. ¥ e FIET TAAAT (Binary Coded Decimal)
3. ® faT @wifEd gamad (Eit Coded Decirmal)

4 % Tz HwifEq & ([Eit Coded Digit)

Question Number : 44 Question Id : 7559053238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
15 unidiractional ermanating from the CPU and reaching the Memory Unit and Inpuat [ Output Units,

Options:
1. ¥ Data Bus
2 % Address Bus

2. % Control Bus

4 # Instruction Block

Question Number : 44 Question Id : 7559053238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

______ ey & Tyt amelt e & it 3 g o 5T | sTeeE e @ agEd
Options:

1. ® 27799 (Data Bus)



2. % T g (Address Bus)
% % foE = (Control Bus)
4 % Tdy =A@ (nstruction Block)

Question Number : 45 Question Id : 7559053239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
SIM stands for:

Options:

1. # Speed In Mobile

2. % Special [dentity Module

2. ¥ Subscriber [dentity Module

4. % simple [dentify Module

Question Number : 45 Question Id : 7559053239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
SIM T ol & 727 27

Options:

1. % Speed In Mobile

2. % Special Identity Module

2. ¥ Subscriber [dentity Module

4. % simple Identify Module

Question Number : 46 Question Id : 7559053240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which leey combination is used to Close an active window?

Options:

1. % CTEL +F1
2. % CTEL +F3
3 % CTRL +F2

4 % CTRL + W

Question Number : 46 Question Id : 7559053240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Options:

1. % CTEL +F1

2 % CTEL +F53

% % CTRL +F2

4 % CTEL + W

Question Number : 47 Question Id : 7559053241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Keyboard is an example of:
Options:

1. ¥ automatic input method



2. ¥ indirect input method
% % network input method
4. %® stored input method

Question Number : 47 Question Id : 7559053241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
HIETS e U JETge 37

Options:

1. % wemier gage fefd (Autornatic input method)
2. ¥ ameoy 50T & Indirect input method)

3. % deeh gy Tt Mletwork input method)

4 % gyigd gAqe BT (Stored input method)

Question Number : 48 Question Id : 7559053242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The physical laver is NOT responsible for:

Options:

1. # line coding

2. % channel coding
3. % modulation

4. ¥ identifying meaning of bits

Question Number : 48 Question Id : 7559053242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AfFwmwT______ o Toiy Fiere g 2
Options:

1. ® @ wiET

2. ® O WIS

3. % Hizgeed

4 Toge =7 aref ugg=AT

Question Number : 49 Question Id : 7559053243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
& memory card reader 15 a dewvice used for communication with a

Options:
1. ¥ magnetic chip

2. % virtual memory
3. % virtual card

4 # yirtual machine

Question Number : 49 Question Id : 7559053243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

HANT T2 TI=¢ UF J0a & Fowas I
Options:

1. gfad T gragnetic chip)

& HTT T & e o AT 8



2. % ameTy T (virtual memory)
3. % gejard W2 (virtual card)
4 % It gaie (virtual machine)

Question Number : 50 Question Id : 7559053244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Wwhich of the following is NOT one of the function calls provided during cormrmunication between a card and a
card reader”

Options:

1. ¥ Reader write off
2. % Reader Select

3. % Reader Connect

4. % Reader Disconnect

Question Number : 50 Question Id : 7559053244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

T & @ UF F1e S HIE ST & o TR & o] ol T8 3 Hiei H o U@ T51 57
Options:

1. % Tt e ATk (Feader write of D)

2 % Ny 99T (Reader Select)

3. ® ¥iET F9e (Reader Connect)

4 # v Euwade (Reader Disconnect)

Question Number : 51 Question Id : 7559053245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

For a digital camera, the diaphragm and admit the correct arnount of light to the irmnager.

Options:

1. % optical sensor
2. * adjusting glass
2. ¥ shutter

4. % lens

Question Number : 51 Question Id : 7559053245 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e TETIeel AT & To, STATETH 3

Options:

1. % mersiter gedew (optical sensor)

2. % T F7 @A adjusting glass)
3. ¥ 4T {shutter)

4 % o lens)

THAY 1 OEhTST ST ARl AT TR Fd &l

Question Number : 52 Question Id : 7559053246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Which of the following can be used for a webcam?
Options:

1. % Internet packet classification



= ¥ Instant messaging
= % [nternet routing
4. ¥ Internet bridging

Question Number : 52 Question Id : 7559053246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TteET & & @7 o= 3 & o0 sed AT T = 9T 27

Options:

l.p ® geare BT FATa e (Internet packet classification)
2. ¥ TxdT AEETET (Instant messaging)

3. ¥ geatde wR (Internet routing)

4, % gezvde W Internet bridging)
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Question Numbers: (53 to 57)
Cuesticon Label | Comprehension



Eead the given passage and answer the questioﬂs.
The Philippine Eagle

The Philippine Eagles have no one to fight with over food. They are invincible skilled hunters. But they are on
the brink of extinction because they hawe nowhere to claim for thernselves due to deforestation.

They are found on the four islands of the Philippines. The forest is their home.

They use their powerful legs to capture and eat animals that live in trees, such as flying lermurs, civets,
squirrels, flying squirrels, monkeys, birds and snakes.

The Fhilippine Eagle has a full wing span of almost two meters. Contrary to their huge body size, they can fly
through narrow spaces betweer trees. Mo wonder they are such expert hurnters!

Large carnivorous rmammals do not exist in the Philippines. This puts the Philippine Eagle at the very top of the
food chain. In fact, they were once called monkey-eating eagles because they could hunt any animal, ever
mornkeys. But these expert hunters are rnow on the brink of extinction. The biggest problem is deforestation. In
order to secure enough food, the Philippine Eagle needs to command a large territory. Years of hunting has
also caused them to suffer. The poaching continues, even to this day.

Though there are many problems, a light of hope does exist for the Philippine Eagle. In 1995, the Governrnent
gave it the status of the national bird of Philippines. This has caused more people to cherish them. Since ther,
surveys and artificial breeding efforts hawve taken place with more plans for various preservation activities to
corme. The cooperation of more people is essential to carry out these plans. The more people that becorme
interested in protecting the Philippine Eagle, the brighter their future will be.

Researchers conducting studies on Philippine Eagle's DA found that the bird has a unique evolutionary
history. [t5 genetic sequence was cormpared with the Harpy Eagle, Crested Eagle, and New Guinea Harpy Eagle.
They found that though all of them are genetically related they are not closely related to the Philippine Eagle.
The smaller snake eagle seerms to be the closest relative.

Sub questions

Question Number : 53 Question Id : 7559053248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The Fhilippine Eagle has no one to fight with over food because:

Options:

1. % noone is as skilled as it is

2. % it is on the brink of extinction

3. * there are no more carnivores left

4, = it has lost its natural habitat

Question Number : 54 Question Id : 7559053249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is NOT the reason for the bird's extinction?

Options:

1. * Unhindered poaching

2. % Lack of sufficient area to reign over
2. % Large scale deforestation

4. % Do more monkeys to eat

Question Number : 55 Question Id : 7559053250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The passage is about:

Options:
1. # importance of preserving forests



2. ¥ saving the eagle from extinction
2. * making laws against poaching

4. % effects of declaring the eagle a national bird

Question Number : 56 Question Id : 7559053251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
‘There is light of hope’ indicates that:

Options:

1. % people will cooperate

2. % there will be more davlight
2. ¥ the eagle can be saved

4. % more trees will e grown

Question Number : 57 Question Id : 7559053252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The passage does NOT malke any rention of the Gowvernment:

Options:

1. ® declaring the eagle as a national bird

2. % using methods to dewvelop artificial breeding of bird
2. * seeking the general public’'s cooperation

4 % passing strict laws against poaching

Question Id : 7559053247 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 7559053248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

Options:

1. ¢ @18 <t oo | Fae a1 2

2 % oF FFA g & FIR 0T 8)

2 % arg ol arfere WEEET T8l U ST 8
4 % gapt eI UTEid® STETE ® |l T

Question Number : 54 Question Id : 7559053249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ufgert 3 Rrep 21 o oo g & 9 o A gt 27
Options:

1. % feq fo o mar féem

o, % vyt a T vty T i T
3 % g ium e et & e

4 g & oy o arfeer Sael @1 T 5T

Question Number : 55 Question Id : 7559053250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

g Uiteeg ______ FALH

Options:

1. % gt @ §gT & & ged

2 o TERH g | A W aT

3. % aper U 3 e T ey

4, % I B U TP T TN F W AT

Question Number : 56 Question Id : 7559053251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
"SI T e W A ST WA 8

Options:

1 ® ST g e

2 % grferr T & T

%, o ST @ =TT AT JedT g
4. ® aifde Uz Iy S

Question Number : 57 Question Id : 7559053252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
THNEEE A ______ & AN W TEE FTRIE oo 5l 5l

Options:

1. % ot @ T UalT S e

2 % gigat & FEE W= B W ad S o O T SHeT A
2 % T ST H A TR

4 arder T o TEATE 9Ed BT UTE FT




QUANTITATIVE AFTITULE

Section Id : 755905357

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 755905357
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 7559053253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

& question is given followed by the information in three statements. ¥ou hawve 1o decide the information in
which of the staterments is necessary and sufficient to answer the question and mark answer accordingly.

Cuestion: What was the population of state *A" in 20077

Staterments:

[. Population of state "4 in 2007 increased by 12% from its population in 2006,
II. In 2006 population of states "4’ and ‘B’ were in the ratio of 2:2 respectively.
III. Population of state ‘B’ which was 12 lakhs in 2008 increased by 8% in 2007,

Options:

1.9 ANLL 1T and 111

Z. % Cmestion cannot be answered even with information in all three statements.
2 % Only I and I

4. # Only IT and either [ or 11

Question Number : 58 Question Id : 7559053253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T WeF 311 e |1 AF T I o (4 e T80T T 81 ST 29 T0ier T & Wl T 3o o o [o] @1 § e SITereadr i oaig
B TEJAR T T =T T
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1. 2008 &1 e H 2007 # T "4 & STaear # 12% &1 Jhy 52l

I 2008 BT 4’ 3 T B’ &1 SATaedrell &7 U 2 ;3 am

III. 2006 # T+= B @i S=gear 12 /i &t a8 2007 # 8% #f Jhi 2

Options:

1. &t ], 11 &R 10l

2. % f1t et # S M et 3 arer ot mey T = ARl R A g
3. % Fad ] ATl

4, % el FuTl AT A EFE TF

Question Number : 59 Question Id : 7559053254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



35 kg of type & sandal powder, which costs 0814 per kg, was mixed with a certain armnount of type B sandal
powder, which costs 0895 per kg. Then the mixture was sold at the rate of 0767 per kg and 18% profit was
sarned. What was the amount {in kg) of type B sandal powder in the mixture?

Options:
1. % 24
2. ¥ 28
3. % 32
4 % 36

Question Number : 59 Question Id : 7559053254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

0614 Hid et 0T Heal o & WA o =g ol & 35 e iH ®1, 0695 Wid RreliiH Jed @ B R & =i =]0f @i T e
AT & THEAT T ST 31 T = TeaT Bt 0767 Wid ToRelOTH o1 o0 & ol T FIEet 18% w1 & WIH gol 59 00 # B W) &
i ool @1 AT (REA e o) = gt

Options:
1. % 24
2. W 2B
3% 32
4 % 36

Question Number : 60 Question Id : 7559053255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

what will come in place of the question mark (7) in the following nurmber series?
155151 1441321137

Options:
1. % 89
2 % 71
3. ¥ 35
4 % 92

Question Number : 60 Question Id : 7559053255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TergterT we=ar saer | neg By (7) o S0 0 4T S
155 151 144 122 1127

Options:
1. % 89
2. % 71
2 ¥ EE
4 % 92

Question Number : 61 Question Id : 7559053256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

There are two numbers in the ratio of 2 : 4 If 8 is added to each of themn, their ratio is changed to & & Find
the two numbers,

Options:

1. % 14, 18
2. % 12 13
2.0% 15 14



4 ¥ 12, 16

Question Number : 61 Question Id : 7559053256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TTEEN 3 0 4 & ST | 7 AT 390 | Uedw § 8 FIST AT 8, T IHT 0T Aeaw] S 6 BT 81 T HE uaT #e

Options:
1. % 14, 18

2. % 12,13
3. % 15 14
4. 9 12, 16

Question Number : 62 Question Id : 7559053257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Vijay deposit an amount of 045,500 to obtain the simple interest at the rate of 11% per annurm for 3 years.
What arnount will Vijay get at the end of 3 years?

Options:

1. ¥ 080,515
2. % 060,015
2. % OBE,515

4 % 062,015

Question Number : 62 Question Id : 7559053257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1.9 060,515
2. % 060,015
2. % 0O6L,515
4 % 062,015

Question Number : 63 Question Id : 7559053258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The simple interest accrued on an amount of 022,500 at the end of 4 yvears is 010,200, What would be the
cormpound interest accrued on the same amournt at the same rate of interest at end of 2 years?

Options:

1. % 016,908

2. ¥ 05,724
2% 023,224
4 % 08,586
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Options:

1. % 016,908



= & 05 724

3. % pzs.224
4 % 08586
GEMERAL MENTAL ABILITY AND REASCONING
Section Id : 755905358
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905358
Question Shuffling Allowed : Yes
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Correct Marks: 1 Wrong Marks: O
Study the following arrangement of letters, digits and symbaols to answer the question given below;

12 BQ=525RJOLIGYMEGE*+DF4HTE

Question: How many such svmbels are thers in the above arangement 2ach of which is either immediately followed by
& number or immediately preceded by a letter?

Options:

1. % COne

2 % Two

3. % Three

4. ¥ Four

Question Number : 64 Question Id : 7559053259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
1. % 0w
2 ® Iy
2 % F
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Question Number : 65 Question Id : 7559053260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Stmudy the following arrangement carefully to answer the question below:

MIESRBIAKTLf#05UDINA46% FH2@EW

How many such vowels are there in the above arrangement, each of which 13 immediately praceded by a symbol and
immediately followed by a consonant?

Options:

1. % il

2 ¥ Cne

2 ® Two

4. % Three

Question Number : 65 Question Id : 7559053260 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. % =

2 ¥ Tm

3 % gy

4 % d=

Question Number : 66 Question Id : 7559053261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which of the following words will come third if all of therm are arranged alphabetically as in a dictionary?
Options:

1. ¥ Miniscule

2. % Minirmalist

3. ® Minority

4 % Miniature

Question Number : 66 Question Id : 7559053261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. ¥ Miniscule

2 % Minimalist



2. % Minority
4. % Miniature

Question Number : 67 Question Id : 7559053262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following words will come third if all of them are arranged alphabetically as in a dictionary?

Options:

1. * Didactic
= ¥ Dictum

2. % Dictionary

4. = Diastole

Question Number : 67 Question Id : 7559053262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:
1. % Didactic

2. ¥ Dictumn
2. % Dictionary
4. % Diastole

Question Number : 68 Question Id : 7559053263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is the same as Lung, Pharynzx, and Eronchioles?

Options:

1. ¥ Alveoli

2. % Ribs

2. % Qesophagus
4 % IMNephrons
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Options:

1. & Uiaiar
2. % T
3. % o

4. % i
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Correct Marks: 1 WrongMarks: 0

Select the option that is related to the third number in the same way as the second number is related to the
first number.

G222 077
Options:



1. % 210
2. % 336
3. % 343
4. % 350
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Options:

1. % 210

= % 336

3. % 3243

4. % 350
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The Seventh ERICS Surmrnit was held in the year 2015 at:
Options:

1. ® Durbar, South Africa

2. ¥ Ufa, Russia

3. % DNew Delhi, India

4. # Sanya, China

Question Number : 70 Question Id : 7559053265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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= W I, ®F



3. ® 9E fowdl, Ing

4. ® g e

Question Number : 71 Question Id : 7559053266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
With which game is Brookland (Ergland) associated?

Options:

1. % Hockey
2 ® Golf

2. ¥ Football

4 *® Tennis

Question Number : 71 Question Id : 7559053266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1. % gTer

2. % TiFE

3. ¥ TEEd

4 ® T

Question Number : 72 Question Id : 7559053267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
The drainage pattern developad on folded sedirmmentary rocks is termed as

Options:

1. # rectarngular
= % radial

2. ® dendritic
4. ¥ trellis

Question Number : 72 Question Id : 7559053267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Options:

1. % Ear
o % ¥ETm
3. % gaEq

4 v

Question Number : 73 Question Id : 7559053268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which of the following places are deposit Wolfram found?

Options:
1. % Chandigiri and Amarkantalk
2 % Chendpather and Degana



2. % Bellary and Radhanagari
4. % Guntur and Hazaribagh

Question Number : 73 Question Id : 7559053268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: O
Fanchayati Eaj Systern in India 15 laid dowr under:

Options:

1. % Fundamental Rights

2. % Directive principles of state
2. % Fundamental Duties

4. ® Election cornrmission Act policy

Question Number : 74 Question Id : 7559053269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. % fifee a9 (Fundamental Rights)

=, ¥ = o MR e 9T (Directive principles of state)

3. % Mol wd<a (Fundamental Duties)

4 % g ST st | Election corrrmission Act policy)

Question Number : 75 Question Id : 7559053270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

which of the following can be said to be essentially the parts of ‘Tnclusive Governance'?
1. Permmitting the MNon-banking Companies to do banking.

2. Establishing effective District planning Comurittess in all the districts,

3. Increasing the government spending on public health

Select the correctly answer using the codes given below:

Options:

1. % 1and 2 only
=z % Zonly

3. ¥ 2 Zonly

4 ® 1 2 3
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2. % A 3
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English Typing Test
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Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 755905360
Question Shuffling Allowed : No

Question Number : 76 Question Id : 7559053271 Question Type: TYPING TEST Display Question Number : Yes

SUITUTIET Carmps are supervised carnps conducted to entertain as well as equip students with various life skills
such as teamworls, socializing, decision making, independent and responsible living and more. [t aids the
overall development of a child and children hawve fun during this process as they get to explore new arenas.
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Question Number : 77 Question Id : 7559053272 Question Type: TYPING TEST Display Question Number : Yes

Most people have no control over their emotional well-being. They feel jowful when good stuff happens and
depressed when things go wrong. This is a very cornmon trait of human beings. But, still there are people who
stay happy no matter what happens. You can also take charge of yvour life and your emoticonal state with these
easy tips. Stop chasing and start living. Many people feel they need something to make them happy. They
often think that if only [ had that other thing, I would be complete. Instead of enjoving life, they chase a vague
idea of happiness. But even when you get everything that is supposed to make you happy, life will have ups
and downs. Today your car breaks down. Tomorrow you pull yvour calf muascle. If vou look hard encough, you
will always find reasons to be miserable. So stop chasing, start living. Wanting more is fine, bat do not forget
to relax and enjoy life for what it is in the present. Assume responsibility. We often blame other people,
Circumstances and even objects for our problems. But, we fail to understand that life is full of different people
and situations. Some are good and sorme are bad. Unless you assurme responsibility for your life, you will
always e at the mercy of those circumstances. Instead of blaming others for what is wrong in vour life, focus
on what you can do to make things better. MNever sulk and try not to feel sorry for yourself too often. It is your
resporsibility to make yourself happy. Nobody else can do it for you. Stop seeking stirmulation. We live in a
world of endless stimulation. Between movies, video games and the internet, something exciting is always
going on. Sometimes, this makes us feel bored and restless when we run out of stuff to do. If you want to be
happy, overcome this addiction. Develop the ability to erjoy life as a whole, even when the stirmulation stops.
Appreciate the sky you see on your way to work each day. Cherish each rmoment you spend with the people
vou love, Savour every bite of food you get to eat. Enjoving every experience will give you many new reascns to
be happy. Take action. Taking action is the logical consequence of assuming responsibility for your life. Start
jogging whern you want to lose weight. Tell people to stop, if they are being rude to you. If vou are unhappy
with your job, start looking for a new one. Get behind the steering wheel of your owrl life. Educate yourself and
cormrmnit to find happiness no matter what it takes. With enough hard work and dedication, you really can
create the life you want. At the end of the day, bad things will happen to vou. You will have highs, lows and
lots of mediums in your life. But, if you follow these tips efficiently, you will be well on your way to staying
happy, o rmatter what happens.
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